Ch Explaining X and Y with Proportionality Name:

Deter mine what the value of A meansin each problem.
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ﬂh Explaining X and Y with Proportionality Name: Answer Key

Deter mine what the value of A meansin each problem.
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Pounds of Med CavnsMowed
Every pound of meat costs $4.7. For every lawn mowed $26 are
earned.
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Sodas Drank > Boxes of Candy >
For every sodadrank 175 calories Every box of candy has 26 pieces
are consumed. of candy.
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Every minute 175 pages are Every hour 53 miles are travelled.
printed.
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